Fixed Point Theory, 14(2013), No. 1, 211-218 http://www.math.ubbcluj.ro/~nodeacj/sfptcj.html

A SPLITTING-RELAXED PROJECTION METHOD FOR SOLVING THE SPLIT FEASIBILITY PROBLEM

FENGHUI WANG

Department of Mathematics, Luoyang Normal University Luoyang 471022, P.R. China E-mail: wfenghui@gmail.com

Abstract. The split feasibility problem (SFP) is to find $x \in C$ so that $Ax \in Q$, where C is a nonempty closed convex subset of \mathbb{R}^n , Q is a nonempty closed convex subset of \mathbb{R}^m , and A is a matrix from \mathbb{R}^n into \mathbb{R}^m . One of successful methods for solving the SFP is Byrne's CQ algorithm. However, to carry out the CQ algorithm, it is required that the closed convex subsets are simple and that the matrix norm is known in advance. Motivated by Tseng's splitting method and Yang's relaxed CQ algorithm, we propose in this paper a new method for solving the SFP, which overcomes the drawback of the CQ algorithm.

Key Words and Phrases: Split feasibility problem, relaxed projection, CQ algorithm, splitting method.

2010 Mathematics Subject Classification: 47J25, 47J20, 49N45, 65J15.

1. INTRODUCTION

The problem under consideration in this article is formulated as finding a point \hat{x} satisfying the property:

$$\hat{x} \in C \text{ and } A\hat{x} \in Q,$$
 (1.1)

where C is a nonempty closed convex subsets of \mathbb{R}^n , Q is a nonempty closed convex subsets of \mathbb{R}^m , and A is a matrix from \mathbb{R}^n into \mathbb{R}^m . Denote by S the solution set of problem (1.1) and assume that it is nonempty throughout the paper. Problem (1.1) is called by Censor and Elfving [5] the split feasibility problem (SFP) and has been proved very useful in dealing with a variety of signal processing problems [4]. Various algorithms have been invented to solve the SFP (see [2, 9, 10, 13, 14, 15, 17, 18] and reference therein). In particular, Byrne introduced his CQ algorithm:

$$x_{n+1} = P_C(x_n - \tau A^* (I - P_Q) A x_n), \tag{1.2}$$

where the step τ is a real number in $(0, 2/||A||^2)$. Since it does not involve matrix inverses, the CQ algorithm is easily performed compared with the original algorithm in [5].

FENGHUI WANG

To implement the CQ algorithm, it is required that the closed convex subsets are so simple that the projections onto them are easily calculated. Now consider the nonempty closed convex subsets in (1.1) having the following form:

$$C = \{ x \in \mathbb{R}^n : c(x) \le 0 \},\$$
$$Q = \{ y \in \mathbb{R}^m : q(y) \le 0 \},\$$

where $c : \mathbb{R}^n \to \mathbb{R}$ and $q : \mathbb{R}^m \to \mathbb{R}$ are both convex functions. In this situation, the efficiency of the CQ method is extremely affected because in general the computation of projections onto such subsets is very difficult. Motivated by Fukushima's relaxed projection method in [6], Yang [17] suggested calculating the projection onto a half-space containing the original subset instead of the latter set itself. More precisely, Yang introduced the following relaxed CQ algorithm:

$$x_{n+1} = P_{C_n}(x_n - \tau f_n(x_n)),$$

where $f_n = A^*(I - P_{Q_n})A$, C_n and Q_n are constructed as follows:

$$C_n = \{ x \in \mathbb{R}^n : c(x_n) \le \langle \xi_n, x_n - x \rangle \},$$
(1.3)

where $\xi_n \in \partial c(x_n)$, and

$$Q_n = \{ y \in \mathbb{R}^m : q(Ax_n) \le \langle \zeta_n, Ax_n - y \rangle \},$$
(1.4)

where $\zeta_n \in \partial q(Ax_n)$. Obviously, for every $n \geq 0$, $C_n \supseteq C$ and $Q_n \supseteq Q$. More important, since the projections onto C_n and Q_n have the closed form, the relax CQ algorithm is easily implemented. Observe that in the relaxed version the step also relies on the matrix norm. So one has to estimate or calculate this value. This is however impossible in practice. To overcome this, Qu [9] introduced the following algorithm:

$$\begin{cases} y_n = P_{C_n}(x_n - \tau_n f_n(x_n)) \\ x_{n+1} = P_{C_n}(x_n - \tau_n f_n(y_n)), \end{cases}$$
(1.5)

where the step τ_n is chosen according to the Armijo-type rule. In such a way, the calculation for the matrix norm is avoided.

Recently the SFP was investigated under a more general framework. In particular, Xu [16] considered the SFP in Hilbert spaces (see also [13]) and Schöpfer et al. [11] in uniformly smooth Banach spaces. In this paper, we will deal with the SFP in infinite-dimensional Hilbert spaces. In other words, we consider problem (1.1) with A a linear bounded operator from a Hilbert space \mathcal{H} to another Hilbert space \mathcal{K} . We note that Qu's algorithm is in fact a combination of the relaxed projection method and Korpelevich's extragradient method [8]. Recently, Tseng [12] introduced a modified forward-backward splitting method for finding zeros of the sum of two monotone operators. Motivated by Tseng's splitting method and the relaxed projection method, we propose in this paper a new algorithm for solving the SFP. An iterative implementation of the proposed algorithm is easy and moreover one need not know the exact value of the matrix norm in advance.

2. Preliminaries

Let \mathcal{H} and \mathcal{K} be real Hilbert spaces. $I : \mathcal{K} \to \mathcal{K}$ denotes the identity operator, $\omega_w(x_n)$ the set of cluster points in the weak topology, " \to " strong convergence and " \to " weak convergence.

Let T be an operator on \mathcal{H} . Then T is called

(i) κ -inverse strongly monotone (κ -ism) if there is $\kappa > 0$ so that

$$\langle Tx - Ty, x - y \rangle \ge \kappa \|Tx - Ty\|^2, \ x, y \in \mathcal{H};$$

(ii) κ -Lipschitz continuous if there is $\kappa > 0$ so that

$$||Tx - Ty|| \le \kappa ||x - y||, \ x, y \in \mathcal{H};$$

- (iii) firmly nonexpansive if it is 1-ism;
- (iv) nonexpansive if it is 1-Lipschitz continuous.

Lemma 2.1 (Byrne [3]). Let $A : \mathcal{H} \to \mathcal{K}$ be a linear bounded operator and let $\varrho = ||A||^2$. Then the operator $A^*(I - P_Q)A$ is $(1/\varrho)$ -ism and hence (ϱ) -Lipschitz continuous.

One of important examples for firmly nonexpansive operators is the projection operator. Let C be a nonempty closed convex subset of \mathbb{R}^n . Denote by P_C the projection from \mathbb{R}^n onto C; that is,

$$P_C x = \underset{y \in C}{\operatorname{arg\,min}} \|x - y\|, \quad x \in \mathbb{R}^n.$$

It is well known that the projection is characterized by the following variational inequality:

$$\langle P_C x - x, P_C x - z \rangle \le 0, \ \forall z \in C.$$

$$(2.1)$$

Firmly nonexpansive operators have the following properties.

Lemma 2.2 (Gobel-Kirk [7]). Let T be an operator on \mathcal{H} . Then the following are equivalent.

- (i) T is firmly nonexpansive,
- (ii) I T is firmly nonexpansive,
- (iii) $||Tx Ty||^2 \le \langle x y, Tx Ty \rangle, x, y \in \mathcal{H}.$

Recall that a function $f : \mathcal{H} \to \mathbb{R}$ is called convex if

$$f(\lambda x + (1 - \lambda)y) \le \lambda f(x) + (1 - \lambda)f(y)$$

for all $\lambda \in [0, 1]$ and for all $x, y \in \mathcal{H}$. A function $f : \mathcal{H} \to \mathbb{R}$ is called subdifferentiable at x if there exists at least one subgradient at x. The set of subgradients of f at the point x is called the subdifferential of f at x, and is denoted by $\partial f(x)$. A function f is called subdifferentiable if it is subdifferentiable at all \mathcal{H} . A convex function $f : \mathcal{H} \to \mathbb{R}$ is called weakly lower semicontinuious at x if $x_n \to x$ implies

$$f(x) \le \liminf f(x_n);$$

weakly lower semicontinuious if it is weakly lower semicontinuious at all \mathcal{H} .

FENGHUI WANG

The following concept plays an important role in the sequential analysis. Assume that C is a closed convex nonempty subset and (x_n) is a sequence in \mathcal{H} . The sequence (x_n) is called Fejér monotone w.r.t. C, if

$$||x_{n+1} - z|| \le ||x_n - z||, \ \forall z \in C.$$

Lemma 2.3. Let C be a nonempty closed convex subset in \mathcal{H} . If the sequence (x_n) is Fejér monotone w.r.t. C, then the following hold.

- (i) $x_n \rightharpoonup x^* \in C$ if and only if $\omega_w(x_n) \subseteq C$;
- (ii) The sequence $\{P_C x_n\}$ converges strongly;
- (iii) If $x_n \rightharpoonup x^* \in C$, then $x^* = \lim_{n \to \infty} P_C x_n$.

Proof. The (i) and (ii) are taken from [1, Theorem 2.16]. To show (iii), let \hat{x} be the limit point of the sequence $\{P_C x_n\}$. It follows from the characterizing inequality (2.1) that

$$\langle x_n - P_C x_n, x^* - P_C x_n \rangle \le 0.$$

Letting $n \to \infty$ yields

$$\langle x^* - \hat{x}, x^* - \hat{x} \rangle \le 0,$$

that is, $x^* = \hat{x}$ and thus the proof is complete.

3. Relaxed projection method

In this section we consider the nonempty closed convex subsets in the SFP with the following form:

$$C = \{x \in \mathcal{H} : c(x) \le 0\}, \ Q = \{y \in \mathcal{K} : q(y) \le 0\},\$$

where $c: \mathcal{H} \to \mathbb{R}$ and $q: \mathcal{K} \to \mathbb{R}$ are both convex functions. Assume that both ∂c and ∂q are nonempty and uniformly bounded on bounded sets. It is worth noting that in finite setting, every convex function is subdifferentiable everywhere and its subdifferentials are uniformly bounded on bounded sets (see [1, Corollary 7.9]). So our assumptions are automatically satisfied in finite setting. Define C_n and Q_n as follows:

$$C_n = \{ x \in \mathcal{H} : c(x_n) \le \langle \xi_n, x_n - x \rangle \}, \tag{3.1}$$

where $\xi_n \in \partial c(x_n)$, and

$$Q_n = \{ y \in \mathcal{K} : q(Ax_n) \le \langle \zeta_n, Ax_n - y \rangle \}, \tag{3.2}$$

where $\zeta_n \in \partial q(Ax_n)$. Obviously, for every $n \ge 0$, $C_n \supseteq C$ and $Q_n \supseteq Q$.

For every n, set $f_n = A^*(I - P_{Q_n})A$. Now let us present our algorithm for finding a solution of the SFP.

Algorithm 3.1. Take an initial guess $x_0 \in \mathcal{H}$.

STEP 1. Given x_n , compute the next iteration:

$$\begin{bmatrix} y_n = P_{C_n}(x_n - \tau_n f_n(x_n)) \\ x_{n+1} = P_{C_n}(y_n - \tau_n(f_n(y_n) - f_n(x_n))), \end{bmatrix}$$
(3.3)

214

where $\tau_n = \sigma \beta^{m(n)}$ with m(n) the smallest nonnegative integer m so that

$$\sigma\beta^m \|f_n(x_n) - f_n(y_n)\| \le \sqrt{1-\theta} \|x_n - y_n\|, \tag{3.4}$$

with $\sigma > 0, \beta > 0, \theta \in (0, 1)$.

STEP 2. If $x_{n+1} = x_n$, stop; otherwise go to step 1.

Remark 3.2. Since f_n is Lipschitz continuous, the step at each iteration is well defined. By the definition of τ_n , $\tau_n = \sigma \beta^{m(n)}$. If m(n) = 0, then $\tau_n = \sigma$. Otherwise, we have

$$\sigma\beta^{m(n)-1} \|f_n(x_n) - f_n(y_n)\| > \sqrt{1-\theta} \|x_n - y_n\|$$

$$\Leftrightarrow \|f_n(x_n) - f_n(y_n)\| > \frac{\sqrt{1-\theta}}{\sigma\beta^{m(n)-1}} \|x_n - y_n\|.$$

Since f_n is ρ -Lipschitz continuous, it follows that

$$\frac{\sqrt{1-\theta}}{\sigma\beta^{m(n)-1}} < \varrho \Leftrightarrow \sigma\beta^{m(n)-1} > \frac{\sqrt{1-\theta}}{\varrho}.$$

In this case, we have $\tau_n = \sigma \beta^{m(n)} > \sqrt{1 - \theta} \beta / \varrho$. Altogether

$$\tau_n \ge \min\{\sigma, \sqrt{1 - \theta\beta/\varrho}\} := \tau. \tag{3.5}$$

Remark 3.3. If $x_n = x_{n+1}$ for some $n \ge 0$, then x_n is a solution of the SFP. In fact, pick any point $z \in S$. Clearly, $x_n \in C_n$. Substituting $x = x_n$ in (3.1) yields $c(x_n) \le 0$, i.e., $x_n \in C$. Note that $x_n = P_{C_n}(x_n - \tau_n f_n(x_n))$. By inequality (2.1), $\langle f_n(x_n), x_n - z \rangle \le 0$. Since $I - P_{Q_n}$ is firmly nonexpansive,

$$\|(I - P_{Q_n})Ax_n\|^2 = \|(I - P_{Q_n})Ax_n - (I - P_{Q_n})Az\|^2$$
$$\leq \langle (I - P_{Q_n})Ax_n, Ax_n - Az \rangle$$
$$= \langle f_n(x_n), x_n - z \rangle \leq 0.$$

Thus $Ax_n \in Q_n$. By the definition of Q_n , we have $q(Ax_n) \leq 0$, i.e., $Ax_n \in Q$ and therefore x_n must be a solution of the SFP.

We assume without loss of generality that Algorithm 3.1 generates an infinite iterative sequence in what follows.

Theorem 3.4. Let (x_n) be the sequence generated by Algorithm 3.1. Then (x_n) converges weakly to a solution $x^* (:= \lim_n P_S x_n)$ of the SFP.

Proof. By Lemma 2.3, it suffices to show that (i) (x_n) is Fejér-monotone w.r.t. S; (ii) every weak cluster point of (x_n) is in the solution set S.

To see this (i), let $z \in S$ be fixed. Clearly, $z \in C_n$ and thus $f_n(z) = 0$ for all $n \in \mathbb{N}$. Note that $x_{n+1} = P_{C_n}(y_n - \tau_n(f_n(y_n) - f_n(x_n)))$. Since P_{C_n} is nonexpansive, we have

$$\begin{aligned} \|x_{n+1} - z\|^2 &= \|P_{C_n}(y_n - \tau_n(f_n(y_n) - f_n(x_n))) - z\|^2 \\ &\leq \|y_n - z - \tau_n(f_n(y_n) - f_n(x_n))\|^2 \\ &= \|y_n - z\|^2 + \tau_n^2 \|f_n(y_n) - f_n(x_n)\|^2 \\ &- 2\tau_n \langle y_n - z, f_n(y_n) - f_n(x_n) \rangle, \end{aligned}$$

which together with (3.4) yields

$$||x_{n+1} - z||^2 \le ||y_n - z||^2 + (1 - \theta)||y_n - x_n||^2 - 2\tau_n \langle y_n - z, f_n(y_n) - f_n(x_n) \rangle.$$
(3.6)

On the other hand, we have

 $||y_n - z||^2 = ||x_n - z||^2 + ||y_n - x_n||^2 + 2\langle x_n - z, y_n - x_n \rangle$ = $||x_n - z||^2 - ||y_n - x_n||^2 + 2\langle y_n - z, y_n - x_n \rangle.$

We now estimate the last term in the above. By inequality (2.1), it follows that

$$\langle y_n - z, y_n - (x_n - \tau_n f_n(x_n)) \rangle \le 0,$$

or equivalently,

$$\langle y_n - z, y_n - x_n \rangle \le -\tau_n \langle f_n(x_n), y_n - z \rangle,$$
 (3.7)

so that

$$||y_n - z||^2 \le ||x_n - z||^2 - ||y_n - x_n||^2 - 2\tau_n \langle f_n(x_n), y_n - z \rangle.$$
(3.8)

Combining (3.6) and (3.8) yields

$$||x_{n+1} - z||^2 \le ||x_n - z||^2 - \theta ||y_n - x_n||^2 - 2\tau_n \langle f_n(y_n), y_n - z \rangle;$$

on the other hand, since f_n is monotone, it follows that

 $\langle f_n(y_n), y_n - z \rangle \ge \langle f_n(z), y_n - z \rangle = 0,$

so that

$$||x_{n+1} - z||^2 \le ||x_n - z||^2 - \theta ||y_n - x_n||^2.$$
(3.9)

This shows that (i) holds and hence (x_n) is bounded. Moreover $||y_n - x_n|| \to 0$ as $n \to \infty$.

We next show (ii) holds. Take a subsequence (x_{n_k}) of (x_n) so that $x_{n_k} \rightharpoonup x'$. Note that $y_n \in C_n$. This implies that

$$c(x_n) \le \langle \xi_n, x_n - y_n \rangle \le \xi \|y_n - x_n\| \to 0,$$

where ξ satisfies $\|\xi_n\| \leq \xi$ for all $n \in \mathbb{N}$. Letting $n \to \infty$ yields $\limsup_n c(x_n) \leq 0$. By the weak lower semicontinuity of c,

$$c(x') \leq \liminf_{k \to \infty} c(x_{n_k}) \leq \limsup_{k \to \infty} c(x_{n_k}) \leq 0,$$

which implies $x' \in C$.

It remains to show $Ax' \in Q$. Take M > 0 so that $M \ge (\varrho ||x_n - z|| + (1/\tau) ||y_n - z||)$ for all $n \in \mathbb{N}$, where τ is defined as in (3.5). On the one hand, it follows from (3.7) that

$$\langle f_n(x_n), y_n - z \rangle = \frac{1}{\tau_n} \langle \tau_n f_n(x_n), y_n - z \rangle$$

$$\leq \frac{1}{\tau_n} \langle x_n - y_n, y_n - z \rangle$$

$$\leq \frac{1}{\tau} ||x_n - y_n|| ||y_n - z||;$$

on the other hand, since f_n is ρ -Lipschitz continuous,

$$\langle f_n(x_n), x_n - y_n \rangle \le ||f_n(x_n) - f_n(z)|| ||x_n - y_n||$$

 $\le \varrho ||x_n - z|| ||x_n - y_n||.$

Combing the last two inequalities yields

$$\langle f_n(x_n), x_n - z \rangle \le M \| x_n - y_n \|.$$
(3.10)

Recalling that f_n is $(1/\varrho)$ -ism, we get

$$\langle f_n(x_n), x_n - z \rangle = \langle f_n(x_n) - f_n(z), x_n - z \rangle$$

$$\geq \frac{1}{\varrho} \| f_n(x_n) - f_n(z) \|^2 = \frac{1}{\varrho} \| f_n(x_n) \|^2$$

which together with (3.10) yields

$$||f_n(x_n)||^2 \le \varrho M ||x_n - y_n|| \to 0.$$

Hence $f_n(x_n) \to 0$ as $n \to \infty$. Moreover, since $I - P_{Q_n}$ is firmly nonexpansive, it follows that

$$\|(I - P_{Q_n})Ax_n\|^2 = \|(I - P_{Q_n})Ax_n - (I - P_{Q_n})Az\|^2$$

$$\leq \langle (I - P_{Q_n})Ax_n, Ax_n - Az \rangle$$

$$= \langle A^*(I - P_{Q_n})Ax_n, x_n - z \rangle$$

$$\leq \|f_n(x_n)\| \|x_n - z\| \to 0.$$

Since $P_{Q_n}(Ax_n) \in Q_n$, it follows that

$$q(Ax_n) \le \langle \zeta_n, Ax_n - P_{Q_n}(Ax_n) \rangle$$
$$\le \zeta \| (I - P_{Q_n}) Ax_n \| \to 0,$$

where ζ satisfies $\|\zeta_n\| \leq \zeta$ for all $n \in \mathbb{N}$. However, the weak continuity of A yields that $Ax_{n_k} \rightharpoonup Ax'$, which together with the weak lower semicontinuity of q now yields

$$q(Ax') \le \liminf_{k \to \infty} q(Ax_{n_k}) \le 0,$$

that is, $Ax' \in Q$. Consequently, $\omega_w(x_n) \subseteq S$ and the proof is finished.

Acknowledgement. The author would like to express his sincere thanks to the referee for his/her valuable comments and suggestions that improved this paper substantially. This work is supported by the National Natural Science Foundation of China, Tianyuan Foundation (11226227) and the Basic Science and Technological Frontier Project of Henan (122300410268).

References

- H.H. Bauschke, J.M. Borwein, On projection algorithms for solving convex feasibility problems, SIAM Review, 38(1996), 367–426.
- C. Byrne, Iterative oblique projection onto convex sets and the split feasibility problem, Inverse Problems, 18(2002), 441–453.
- [3] C. Byrne, A unified treatment of some iterative algorithms in signal processing and image reconstruction, Inverse Problems, 20(2004), 103–120.

FENGHUI WANG

- [4] Y. Censor, T. Bortfeld, B. Martin, A. Trofimov, A unified approach for inversion problems in intensitymodulated radiation therapy, Phys. Med. Biol., 51(2003), 2353–2365.
- [5] Y. Censor, T. Elfving, A multiprojection algorithms using Bragman projection in a product space, J. Numer. Algorithm, 8(1994), 221–239.
- [6] M. Fukushima, A relaxed projection method for variational inequalities, Math. Program., 35(1986), 58–70.
- [7] K. Goebel, W.A. Kirk, Topics on Metric Fixed Point Theory, Cambridge University Press, Cambridge, 1990.
- [8] G.M. Korpelevich, The extragradient method for finding saddle points and other problems, Ekonomika i Matematicheskie Metody, 12(1976), 747–756.
- B. Qu, N. Xiu, A note on the CQ algorithm for the split feasibility problem, Inverse Problems, 21(2005), 1655–1665.
- [10] B. Qu, N. Xiu, A new halfspace-relaxation projection method for the split feasibility problem, Linear Algebra Appl., 428(2008), 1218–1229.
- [11] F. Schöpfer, T. Schuster, A.K. Louis, An iterative regularization method for the solution of the split feasibility problem in Banach spaces, Inverse Problems, 24(2008), 055008.
- [12] P. Tseng, A modified forward-backward splitting method for maximal monotone mappings, SIAM J. Control Optim., 38(2000), 431–446.
- [13] F. Wang, H.K. Xu, Approximating curve and strong convergence of the CQ algorithm for the split feasibility problem, J. Inequal. Appl., 2010 (2010), Article ID 102085.
- [14] F. Wang, H.K. Xu, Choices of variable steps of the CQ algorithm for the split feasibility problem, Fixed Point Theory, 12(2011), 489–496.
- [15] H.K. Xu, A variable Krasnosel'skii-Mann algorithm and the multiple-set split feasibility problem, Inverse Problems, 22(2006), 2021–2034.
- [16] H.K. Xu, Iterative methods for the split feasibility problem in infinite-dimensional Hilbert spaces, Inverse Problems, 26(2010), 105018.
- [17] Q. Yang, The relaxed CQ algorithm for solving the split feasibility problem, Inverse Problems, 20(2004), 1261–1266.
- [18] Q. Yang, On variable-step relaxed projection algorithm for variational inequalities, J. Math. Anal. Appl., 302(2005), 166–179.

Received: April 6, 2011; Accepted: January 10, 2012.